page 1 of 2
Item-nr. |Description A
0613600 |watertrough Pingo 100, wall mounted 0613054
0613700 |watertrough Pingo 100, wall mounted 0613055
0613800 |watertrough Pingo 100, wall mounted 0613056
( .
“ ]
o
o
0 <
position upper hole/‘ "
ca.735mm SN
P=0 4 o
Item-nr. |Description Number
0613020 |mounting kit Pingo, incl. float valve 1
0613950 |wall support for stainless trough 2
A watertrough Pingo 1
watertrough Pingo, wall mounted
l Number: 0613x00-0
s p I I . e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 16-11-2020

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.

No rights can be derived from this drawing.




UK page 2 of 2
Item-nr. |Description A

0613100 |watertrough Pingo 100, wall mounted 0613054
0613200 |watertrough Pingo 200, wall mounted 0613055
0613300 |watertrough Pingo 300, wall mounted 0613056

r

- -
A4 (J A4
(CAEES),
o
o
o]
\shorten support post
10.21.075 in practice
P=0 J) (ca. 43 mm)
a. % : ‘
<
<
o 1021075
Item-nr. |Description Number
0613020 |mounting kit Pingo, incl. float valve 1
1021075 |support post 60mmx75cm floor mounted 2
A watertrough Pingo 1

watertrough Pingo, floormounted

Number: 0613x00-0
Spll'\ClC-’l' onit -
DAIRY HOUSING CONCEPTS Date: 16-11-2020

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




]

7110025
8210805

0612162

7410040

I 8210805

7408016
0613028
8208805

2292635

8208805
8308110
7408016

7408016
8208805
8308110

7410040

detail A(1:4)

Item-nr.

Description

Number

0418020

mounting clip 60mm

2

0606202

support for stainless steel trough 60mm

0612162

plug for stainless drinking trough 2013

0613021

connecting tube ball valve Pingo, SS

0613022

locking device hood Pingo

0613023

protection strip 1-2 mm, L=100mm

0613025

float cover Pingo SS, green coated

0613028

spacer black PA66 8.2 x12 |=5mm

0660701

float valve for drinking trough

2292635

locking bolt complete for lever

7110025

hexagon-head tap bolt M10x25 galv

7408016

hexagon-head tap bolt M8x16 stainless st

7410040

hexagon-head tapbolt M10x40 stainless st

8208805

self locking nylon nut M8, stainl.steel

8210805

self locking nylon nut M10, stainl.steel

8308110

washer M8 stainless steel

mounting kit Pingo, incl. float valve

spinder .

DAIRY HOUSING CONCEPTS Date:

Number:

0613020-O0

mm

4-1-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




]

8208805
0613028
7408016

0613023

7408016
8308110
8208805

2292635

7408016
8308110
8208805

0613022

detail A(1:3)

Item-nr.

Description

Number

0613021

connecting tube ball valve Pingo, SS

1

0613022

locking device hood Pingo

0613023

protection strip 1-2 mm, L=100mm

0613025

float cover Pingo SS, green coated

0613028

spacer black PA66 8.2 x12 |= 5mm

0660739

float valve low pressure mod. 738 Spin.

2292635

locking bolt complete for lever

7408016

hexagon-head tap bolt M8x16 stainless st

8208805

self locking nylon nut M8, stainl.steel

8308110

washer M8 stainless steel

(G2 o) Y o) N B SN ) [ (RN [N RN

lage druk vlotterset Pingo compleet

sSPINAer e

DAIRY HOUSING CONCEPTS Datum:

Nummer:

0613030-O0

mm

4-1-2021

Tekening blijft ons ei

Aan de gegevens op %eze tekening kunnen geen rechten worden ontleend.

endom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.




